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Question 1. (5 marks) '

Determine which of the followmg matrices are in row: echelon form or in reduced
row echelon form

The following matrix (matrices) is (are) in row echelon form: B C [E

The Iouowm,q mattix \matrlces) 15 (are) n reduced row ecnelen Iorm J:j =




Question 2. (5 marks) ,
Find the solution set of the linear equation 2x —2y+3z =4

Let g
2ot
2y= L-{V-\—ZJV-B‘-Z
2Y T Y4 28-3E
X= 2+s -3+t
'THQ QQLL)T\ON set g -
K (%Y, 2) = (2+s- 3t <, Jc) g,--l:'ir\' R

Question 3. (5 marks)
Find the solution set of the system of linear equations Whose augmented matrix 1s

~given below in row-echelon form.

10 2 3
01 -1 0
00 1 -2

TR gQLu [N ! ge,{;

( Xy, Xz, Xg\ (3, -2, Z)



Question 4. (5 marks)

Find the solution set of the following system of linear equations.

2)(3 X4 =0
X3 + 3x4 =0
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